=€
' maz i) ERE =9 FHSE =319

aumpn BEOSR3 1 HETOEESS

e 2=13.200w
A2 4 ERE %?éfogo%m g ;‘mﬂu12.000m)

saazy 181 H&vyimsaeee I

: BOSSHBEHT BT X
= 1/ljg\u§caﬁfﬁ-1n?gﬁmamnm 1

1{/—:mi%ﬁ&ﬁq:frﬁ%ﬁlb?:-—zﬁmﬁtm'SF-E!ﬁﬁ)

“ ASHL EBRLHITEEN. i

i _wpE ISR ESRADL. & A 2

= g‘ti’al%\if:'%‘ =J'-1-v9»1“zﬁl:7n:zt~l._.ﬂ&lﬁ<t.3l. 5

7’u—w:ﬁﬁﬁl:ﬁ%a%:ﬁsm\f:tﬁﬂ'o

@ ZASRI ! %BENAﬂgaﬁBﬁEﬂﬁﬁﬁﬁém.

Y AR hFECRERISELLNELET. -
R AR BRRBORRE R BIES . R
I%‘ég:%ggm}s&ﬁﬁm-amum#&mam
CoRHEREOLET " agine

& @70 D) @1SRKHDT EEDH

4

BEO-ADN/T1H¥eV 7RG !

AOA7Hh—-R3HORHHFBETY

BERE2SFME s—AmL) T -T)
OAMRES(WABIXEH]---NT1R
Y F-hv7[MABAEHEA ). - - HMNUFK
OWANY7 | [(BARISAER]): - -W|NU7
OWAHY7II[EARKEARA ] -WNU7

BRI /PRETREEIZ—0D21E !
100 BICOE2RI/MEELET,

| BRI PEEERE
ZERVELET.

' TEOBORIMITH -,

"EsE 2 YHO=SS
BZOTU-HELVEAT | B0/ -HREVEAT
8 2,200: |re 2,200n
58 2,100m |[#8 2,100x

+ER 2 600[1; ¥ tEREESIEA~SRORE0BAR.

FEER TSR
¢10100m 15700m D

70900 A 13.200P§
(7600m  11,100m D

5,600= 9,600~

[EPAS E kg G

- ¥B=5 &
1.000,
2.000p

ESEH






